Monthly averaged wind velocity by MF radar at Tromsoe for March 2020

North

mean sigma = 17.965

100
50

-50
-100

z
:

o
o

4 8 12 16 20 0
mean sigma = 19.362

100 E|

50 =

0 [ : Af’ RrV\/\r/l\)r ¢ \/\‘\7 : é

-50 N E

-100 E|

IN

8 12

mean sigma = 19.662

20

o

a o
o O

o

o &
ISIR=)

oy

4 Pt g
e
-

© e

4

M\WWW/M

16

mean sigma = 19.818

20

o

100
50

-50
-100

©

mean sigma = 20.555

20

a o
o O

&
S o

o
o

© [rrrrrrRpTTT T

mean sigma = 17.853

20

o

a o
o O

&
S o

o
o

© g

mean sigma = 17.147

20

o

a o
o O

o

o &
3 o

© frrrprrrgpTITTIT

4 8 12 16 20 0

mean sigma = 16.528
100F E
50 =
0= R S~
-50 E
-100E E
0 4 8 12 16 20 0

o
o

East

mean sigma = 20.683

o
o

&
S

o
o O
o é

IS

8 0

o

mean sigma = 19.428

o
o

&
S

\ | .
e R 103km

=

IS

©
S
>
3
o

mean sigma = 22.139

100F ]
50F E

owwwﬁka%fVmmemw Y \ 100km
-50 -
-100E E
0 4 8 12 16 20 0

mean sigma = 21.174

97km

20

o

mean sigma = 19.167

100
50

ol B T 9dkm)
505 3
-100E E|
0 4 8 12 16 20 0
mean sigma = 18.522
100 F E|
50F =
o ror A R e T 9 km)
505 3
-100E 3
0 4 8 12 16 20 0
mean sigma = 19.488
100F E|
50 3
oA I T e 88km
501 3
-100E 3
0 4 8 12 16 20 0
mean sigma = 18.428
100 F E|
50 .
SR I 51 311
50F- 3
-100E 3
0 4 8 12 16 20 0

plot_mf_month_ave_year.pro
Sun Sep 13 13:05:22 2020



Monthly averaged wind velocity by MF radar at Tromsoe for March 2020
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